Memorandum

To: Programs, Projects and Operations Subcommittee

Subject: Mopac Equestrian Trail – Re-bidding of Project

Date: March 2, 2007

By: Gerry Bowen

As approved by the Board in February, the District re-advertised the Mopac Equestrian Trail Project with the bid opening on March 2, 2007. The scope of the project was reduced to include the trailhead parking lot, bridge approach railings, extension of one culvert, and fencing north of Buffalo Road.

Five contractors, plus three fencing contractors, obtained plans for the project (see attached list), of which two attended a site showing on February 23, 2007 (Camden and ASW). Only one bid was received from Camden Excavating from Blair, Nebraska in the amount of \$49,392.48. The engineers estimate is \$41,531.

Based on this bid, the breakdown of costs, including in-kind contributions for clearing, is as follows:

Game and Parks Commission \$39,514

Mopac Horse Council 6,939 (Cash and in-kind)
NRD 6,939 (Cash and in-kind)

\$53,392

Management has reviewed the bid with the Mopac Horse Council and received their verbal approval. It is recommended that the bid be accepted.

• It is recommended that the Subcommittee recommend to the board that the General Manager be authorized to execute a construction contract in the amount of \$49,392.48 with Camden Excavating for the Mopac Equestrian Trail Project, subject to approval by the Nebraska Game and Parks Commission.

REVISED BID FORM

As Submitted on March 2 , 2007

Papio-Missouri River Natural Resources District 8901 S. 154th Street Omaha NE 68138

Project:

McPac Horse Trail Improvements (Platte River to Springfield)

Sarpy County, Nebraska

NRD Project No. - RTP 2006 (004)

Major items of work for this project include the following approximate quantities:

NO.	BID ITEM DESCRIPTION	UNITS	ESTIMATED QUANTITIES	UNIT PRICE	TOTAL AMOUNT
1	Smooth Wire Fence with Posts	LF	2,915	3.00/ft	8745.00
2	42" Corrugated Metal Pipe Culvert Extension	LS	. 1	8750.00	8750.00
3	Synthetic Fabric Sitt Fence Installation (At CMP Extension)	LF	100	7.00/ft	700.00
4	Synthetic Fabric Sitt Fence Maintenance (At CMP Extension)	LF	100	6.00/ft	600.00
5	Synthetic Fabric Silt Fence Removal (At CMP Extension)	LF	100	3.00/ft	300.00
6	Bridge Abutment Railing	LF	112	89.29/ft	10000.48
7	Crushed Rock Surfacing for Parking Lot and Ramp	CY	775	23.48/cy	18197.00
8	24" Corrugated Metal Pipe Culvert (Parking Lot)	LF	40	52.50/ft	2100.00
			TOTAL BID (1 TO 8)	\$ 4	49,392.48

Do not include Nebraska State and Local Sales Tax, as the owner is exempt from those taxes.

No bidder may withdraw their proposal within 10 days after the bid opening.

The successful bidder will be required to furnish a certificate of insurance.

The work must be completed by May 31, 2007. See Instructions to Bidders "Start and Completion Dates" for additional details.

Fax Transmittal



LINCOLN OFFICE
2200 Fletcher Avenue, Suite 102
Lincoln, NE 68521
Phone: 402/438-4014
Fax: 402/438-4026

○ OMAHA OFFICE
 3738 South 149th Street, Suite 104
 Omaha, NE 68144
 Phone: 402/614-0434
 Fax: 402/614-6508

To: Gerry Bowen

From: Scott Oswald

Company: NRD

Date Sent: 3/2/07

Phone No.: 402-444-6222

Number of pages including cover: 4

Fax No.: 402-895-6543

EDC Project Name: MoPac Horse Trail Rebid

Regarding: Bid list/cost estimate

EDC Project No.: 06-095

⊠ URGENT

INFORMATION

☐ PLEASE COMMENT

☐ PLEASE REPLY

COMMENTS:

Gerry - Attached you will find the current Bidder's list as well as a current cost estimate. I've included a line item in there for the CMP at the parking lot and have shown a sub total before the clearing and grubbing by the NRD staff. The current estimate for the work being bid is around \$37,500 so hopefully we get some bids around that amount.

Thank you

Scott Oswald

"Growing through the Success of Our Clients"

The information and attachments contained in this facsimile transmission are intended solely for the individual named above. If the recipient of this transmittal is not the individual named above and is not responsible for delivering transmittals to that individual, you are hereby notified that any review, dissemination, distribution or copying of this message is strictly prohibited.

If you have received this transmittal in error, please immediately notify us by telephone at the number shown above. We will arrange for you to return the original message to us via the U.S. Postal Service, and if requested, we will reimburse you for such expense. Thank you for your assistance.

MoPac HORSE TRAIL IMPROVEMENTS (PLATTE RIVER TO SPRINGFIELD)

Bidder List February 27, 2007

Set #/Company	Contact	Date	Pald/Billed (\$20.00)
1. NRD	Gerry Bowen		
		Date	-
2. NRD	Randy Lee		
		Date	-
3. ASW Associates 8055 O Street, Ste 119 Lincoln, NE 68510	Clay Schellenberg 402-505-0596 (Cell) 402-505-6606 (Fax)	Date	_
4.		Date	
Sawyer Construction 220 W Cloverly Fremont, NE 68025	Tom Sawyer 402-727-6806 402-753-9111 (Fax)	Date	-
5. Elkhorn Fence PO Box 186 Elkhorn, NE 68022	Rob Brooks 402-677-8677 402-289-5566 (Fax)	Date	_
6. Camden Excavating PO Box 304 Blair, NE 68008	John Camden 402-426-3285 402-426-3295 (Fax)	Date	-
7. Midwest Fence 8000 Serum Ave Ralston, NE 68127	Trent Garris 402-593-9006 402-331-4803 (Fax)	Date	-

8. ME Collins 980 E 25 th Street PO Box 83 Wahoo, NE 68066	Mike Collins 402-443-3663 402-443-5013 (Fax)	Date
9. Carley Construction 216 Meadow Drive PO Box 98 Treynor, IA 51575	Rob Carley 712-487-3599 712-487-3920 (Fax)	Date
10. Safety Guard 18027 Jefferson Ave Crescent, IA 51526	Greg Malnack 712-545-3109 712-545-9364 (Fax)	Date
11.		Date
12.		Date
13.		Date
14.		Date
15.		Date

Page 1

Engineers Opinion of Probable Improvement Costs

Infrastructure Costs Associated with Development of Paplo-Missouri River Natural Resources District MoPac Horse Trail (Platte River to Springfield)



EDC Proj. # 05-095

March 2, 2007

ON-SITE IMPROVEMENTS

Item	Quantity	Unit	Unit Cost		Total Cost
Smooth Wire Fence Extension w/ posts	2915	LF	\$	1.80	\$5,247.00
42" Corrugated Metal Pipe Culvert Extension	1	LS	\$ 4,00	00.00	\$4,000.00
Synthetic Fabric Silt Fence Installation (at cmp)	100	LF	\$	3.00	\$300.00
Synthetic Fabric Silt Fence Maintenance (at cmp)	100	LF	\$	2.00	\$200.00
Synthetic Fabric Silt Fence Removal (at cmp)	100	LF	\$	1.00	\$100.00
Bridge Abutment Railing	112	LΕ	s ·	44.50	\$4,984.00
Crushed Rock Surfacing for Parking Lot	775	CY	\$:	28.00	\$21,700,00
24" Corrugated Metal Pipe Culvert (Parking Lot)	40	LF	\$	25.00	\$1,000.00
			Sub	Total	\$37,531.00
General Clearing (By NRD staff)	1	LS	\$ 4,0	00.00	\$4,000.00
				Total	\$41,531.00